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QUESTION 1

You want to manage access to your hybrid cloud resources centrally. You want to use single sign-on (SSO) to access
your NetApp Cloud Central accounts using credentials from your corporate directory. Which two open standards would
you use to federate your identity to the company\\'s SSO? (Choose two.) 

A. Security Assertion Markup Language 2.0 (SAML) 

B. Windows Active Directory (AD) authentication protocols 

C. Lightweight Directory Access Protocol (LDAP) 

D. OpenID Connect (OIDC) 

Correct Answer: BC 

 

QUESTION 2

You are designing for StorageGRID deployment. 

In this scenario, what are two rules for the nodes? (Choose two.) 

A. You need two admin nodes per site. 

B. Each data center site must include at least four storage nodes. 

C. Each data center site must include at least three storage nodes. 

D. Only one admin node is permitted per site. 

Correct Answer: BC 

 

QUESTION 3

You must configure data replication between a NetApp Cloud Volumes ONTAP system in AWS and a 

In this scenario, what is a cost-effective way to accomplish this goal? 

A. Set up an Internet gateway on the AWS VPC that is hosting the Cloud Volumes ONTAP instance. 

B. You must configure ExpressRoute and Direct Connect with your on-premises data center. 

C. You must allow NetApp Cloud Manager to configure the network communication between the working environments
during the cluster peering setup wizard. 

D. You must configure a VPN connection between the AWS VPC and the Azure VNet. 

Correct Answer: C 
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QUESTION 4

A customer wants to design a solution that provides unique persistent storage when scaling a StatefuISet application.
The customer proposes using a volume claim template in the StatefulSet definition to generate a unique persistent
volume and use NetApp Trident to automate the provisioning of the persistent volume. 

Which Kubernetes object would be used in this scenario? 

A. HorizontalPodAutoscaler 

B. CronJob 

C. StorageClass 

D. ConfigMap 

Correct Answer: A 

 

QUESTION 5

Which NetApp Cloud Manager feature would be enabled to support Immutability of the data? 

A. NetApp Cloud WORM 

B. NetApp Storage Encryption 

C. NetApp Snapshot 

D. NetApp Volume Encryption 

Correct Answer: B 

 

QUESTION 6

You are designing a disaster-recovery solution for a customer who is running a critical workload on Azure NetApp Files.
You suggest cross-region replication 

In this scenario, which two statements are true? (Choose two.) 

A. Cross-region replication depends on Global VNet Peering. 

B. Cross-region replication can be used to replicate SMB workloads. 

C. Cross-region replication can replicate data between any two Azure regions 

D. Cross-region replication works only between designated region pairs. 

Correct Answer: BC 

 

QUESTION 7
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Exhibit. 

You are implementing storage-as-a-service using the service levels that are shown in the exhibit. In your implementation
plan, which metric is used for the SLA and SLO? 

A. throughput 

B. I/O density 

C. latency 

D. RAID level 

Correct Answer: B 

 

QUESTION 8

You are asked to design a monitoring solution for your Cloud Volumes ONTAP environment for AWS. You decide to
enable the Monitoring service in Cloud Manager. In this scenario, which two statements are correct? (Choose two. 

A. You must configure alerts through the Cloud Insights user interface. 

B. The Monitoring service displays the performance of clusters using the Active IQ page in NetApp Cloud Manager. 

C. You must have a pre-existing NetApp Cloud Insights tenant to enable the Monitoring service. 

D. The Monitoring service deploys a virtual machine into your VPC. 

Correct Answer: BC 

 

QUESTION 9

Your customer requires a centralized repository of media files. The repository will be large (in petabytes), with content
creators and editors using It from around the globe. They want a NetApp solution that requires minimal administrative
resources and provides a good user experience. 

In this scenario, which two NetApp technologies would satisfy these requirements? (Choose two.) 
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A. FlexCache 

B. Flash Cache 

C. SnapMirror 

D. FlexGroup 

Correct Answer: AB 

 

QUESTION 10

You are designing a new hybrid cloud solution. The nonfunctional requirements state that you must be able to integrate
identity management for SSO authentication. 

In this scenario, what are two supported identity management providers? (Choose two.) 

A. OAuth 

B. SAML 

C. YAML 

D. Azure Active Directory 

Correct Answer: AB 
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